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QUESTION 1

You are deploying a new data center fabric to support virtualized systems. As part of the deployment, you 

must monitor server utilization of the hosts. 

In this scenario, which Juniper Networks product would satisfy this requirement? 

A. Junos Space Network Management Platform 

B. Contrail Networking 

C. Contrail Insights 

D. Junos Space Security Director 

Correct Answer: C 

 

QUESTION 2

Which two statements about a three-stage Clos IP Fabric architecture are correct? (Choose two.) 

A. Each server-facing interface is always two hops away from any other server-facing interfaces. 

B. Each leaf node should have a physical connection to every other leaf node. 

C. No physical connectivity exists between spine devices. 

D. Each server-facing interface is always one hop away from any other server-facing interfaces. 

Correct Answer: CD 

 

QUESTION 3

Click the Exhibit button. 
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Given the information shown below. 

2 spine nodes with (4) 40GbE interfaces each 

4 leaf nodes: 

Each leaf node has half-utilized (24) 10GbE interfaces. 

Each leaf node has (1) 40GbE interface to each of the 2 spine nodes. 

What is the oversubscription ratio for the IP fabric shown in the exhibit? 

A. 1:1 

B. 4:1 

C. 3:1 

D. 2:1 

Correct Answer: C 

 

QUESTION 4

You are asked by the data center architecture team to evaluate redundancy and management options for server racks
that have two or more switches to reduce the management footprint while maintaining redundancy. 

Which technology fulfills both requirements? 

A. Virtual Chassis 

B. ESI 

C. Virtual Router Redundancy Protocol 

D. MC-LAG 

Correct Answer: A 

 

QUESTION 5
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You are designing a data center where all your servers in each rack will be connected to two top-of-rack (ToR) switches
using Layer 2, as shown in the exhibit. You must implement a high availability solution that maintains link layer
connectivity to each server when one of the ToR switches fails. 

In this scenario, which solution will accomplish this task? 

A. VRRP 

B. LAG 

C. GRES with NSB 

D. MC-LAG 

Correct Answer: D 
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